T02
UWTIT W 'N? 10t w NpR=172°2n

;7190 DIN

7' -"wTn !

(X -"r"wiya 3w N

(2

-"Do'a 17 iy "

-"2Inna mw 1770

-"orTon”

(X -"DnI2dwn 2y "

(onnnn=nni1dwn) (a

IT-"DT2 NI'o's a1 NI”
MY 7¥ 27N TNIX 17'X 1INV 7Y ynw IRA7 Kipa 79 ,pnyt 1 "
(ndM) "2 nire
-"D'7'Ta 0NN IoNY"

" HNpTN -"amd vown nna NIwY?"

TUTIRL 2R 172720 Np=17272n

DNV T210 0'717'N -1 ;90 pIn

.071vn X 'n a'nan

"Ity v -y

-"rmniaa nat

=172 2anD "

'n X770 Dna NN "D N

T02
UWTT W 'N? 10w NpR=172°72n

7190 DIN

' -"wTn !

(X -"r"wiya e nu”

(a

-"Dd'7na 17 iy m”

-"9Inna mw 170"

-"orTon”

(x -"DnI2dwn 2y "

(onnin=nniadwn) (2

IT -"DT2 ni'o's an1I"
MY 7w 27N TNIXR 1'7'X) NV 2V ynw NN Xipa ' ,j7nyt 0 nx”
(nd12) "2 nire
-"0'7'ta 0NN IoxY"

" NpTRT -"2md vown nna NIwYY!

TUTIRL 2R 172720 Np=172972n

DNaY 721> 07170 -2 ;790 pIN

.071vn NxX N arnan

Ity v -"lyT"

-"'mnRaa niyant

-"I7712 2mD "

N X 1770 DDA NN 7D v

X127 07777 )X DY DTRY NNl NNt 7D Yy - N




.N1127 07777 1Y DWI DTRY NN'WII nn'ea 7Dy -




